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  ال اس

  ات وات

 .أنا لم أفشل لكنني وجدت عشرة آلاف طریقة لا تعمل

Sequence 

f

f (1), f (2), ……., f (n) 

{ Zn } = { Z1 , Z2 , ……, Zn } 

Zn = f (n)n= 1, 2, 3, ……

 .........,1,,1,,1,,1, iiii 

1, 2, 3,…..

........,,,, 432 iiii

 ni
Terms of Sequence 

Z1, Z2, …….Zn

n

Constant Sequence 

{ Zn }Zk = Zk+1k=1, 2, 3

Convergent Sequence 
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n




lim

 > 0N| Zn – Z | < 

n > NnZnZZn

Z{ Zn }Divergent

ninf )( 



 

86 

 

Zn = xn + i yn            &      Z = x + i y
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Znn

S1 = Z1 
S2 = Z1  + Z2 
S3 = Z1  + Z2 + Z3 
: 
: 
Sn = Z1  + Z2 + Z3 + …….+ Zn 

SnPartial Sum


